M:thin English Brain Teasers level 3 #8

36 w 24 32 15 ? v 42
26 14 35 18 8 é 20

puzzie2 puzzle3
What is the missing number in Which letter is needed
the following pattern ? to complete the puzzle ?
AlY
E | U
W | C
V| D
X |7
Which 2 numbers are missing here ?
512130 4 11 30 2| 8|7
319160 6 [ 5|10 714 |9
20170 20 | 40 50 |40
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Answer to brain teasers

puzzle1l: 30
The opposite numbers in each hexagon add up to 50.

puzzle 2 : 25
Multiply the inner numbers by 5 and add 10 to get the outer ones.

puzzle3: B
Each row adds up to a value of 26.

puzzle 4 : 60 and 30
The difference between the 2 cells in each row and column

multiplied by 10.
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